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¥ B OB OB X [ sriT] (7 —2 LX)
#0b
Fs (a7 03) HI5 (o 24) A Mk Nipz| 1922 1922 1922 192} 1916 1916 il
W1922-1 | wo1922-2 | w.1922-3 | w.1924=1 | M. 1916-1 | V. 1916-2
N SEBRAR BH 0.35m3 Wil h < 1. 5m
Tk LT AT (B ] 8- BT BATE- Bk m3 5. 80 5,80 5. 80 17.40
Ay RO DR Bl 0. 35m3 A h > 1. 5m
(% 1) i A TT - B iR b m3 6.99 5.88 6,37 19,24
F LD BH 0. 35m3
AR (BEIR - BRI MEES : EAF L m3
BII 0. 35m3
" YR a2 Y—F m3
BIt 0. 35m3
4 SR : R/ m3 2,15 1.36 2.25 9.06
BH 0, 35m3
" PUERH ko m3 5,67 2,34 4,81 12.85
BH 0.35m3 4 /%
" PURRE - R L#F m3 .71 1.67 1,69 5.07
3k |-aLel B0 5 L fadzunsy m3 6. 49 9.09 6.80 22,38
517" iz & 9 -l
FRHG ALY iR m3 6,19 9,09 6,80 22.38
LR T (SRR B R SRR R ARALIA [T 1=3.50 m 4.00 4,00 1.00 12.00
i n%  L=4,00 m
SR L 28 m 1.00 4.00 4.00 12,00
n 3B m
WENEB RIS | TR LY, 50 m 4.00 1.00 1.00 12,00
o M5 1=4,00 m
2R Mz 2% m 4,00 1.00 41,00 12.00
l 3Ex m
LR N R BR ST .
A R SR A5 s kN I | 1 1 1 | 6
MBI e PR e S ) t 1.45 1.55 1.535 1,53
[ Tiem ERL70S | R 1 8] L 0. 10 0.21 0.21 0.10 0.10 0, 10 0,82
797 n% L 0.075 0.15 0. 137 0.07 0,07 0.07 0.57
WAL | O L 0,03 0.06 0.07 0.04 0.03 0.03 0.26
ARG L | TR m 0, 50 1. 00 1.00 0,30 0,350 0. 30 4.00
Hlidh TR R RS 147
Mg T [SRIRIEAT FeAESIARIH T | ZET A - ik A 10 5 5 20
RIS 347
BEH OB T | T AN G Tk A 5 10 3 20
FEAG MRS - Af(% |t - Bl
VEHUKM T | LBUAK: Ak 7RG EREE K A
& 7 i B




& & 15 %k [MHWT ] (7= 2 0l
ESLS
RRA (A #3) | AMGIHLA"84) |40 FF itk i fiz. 1922 1922 1922 1921 1916 1916 &k
Wo1922-1 | M.1922-2 | W.1922-3 | Mo 1928-1 | M. 1916-1 | W 1916-2
RATINE)
B L T |Sidwe [ 7A77Hl t=20emE T m 8, 14 8, 14 8. 14 16. 28
SRR A [AEERRITHERATEUA T |As - Co L= 10cm m2 4,15 4.15 1,15 8. 30
" As « Co 10< L= |5em n2
RIRALB et A S T 7R3 WLEERGA m3 0.21 0.21 0,21 0. 42
By il b4 7R77mbzy Y-S m3 0.21 0.21 0. 21 0.42
(AT
Rl v o= T s T 7AT7kb (=20cmE T m 5, 62 10. 52 10, 22 16, 14
b=y ] MBI C As - Co t=6em m2
SEYEIRAERE SRR EGA T JAs « Co L= 10cm m2 6.88 13.34 12.91 20,22
" As ¢ Co 10<t=13cm m2
ROLRLEL | R R 7AavE%  HERUA m3 0,27 0. 60 0,58 0.87
MBI L Ml b1 vR77802sy ) B m3 0.27 0,60 0,58 0.87
{RALIHNE) FIHE BT
W LT AT (B (MR MRS : RC-40 m3
" MG - M-25 m3
CARBIINIE) NP IR filEh < 1. 5m
ToE LD (AT (i 1 %E) AL Y m3
R/E LR | LR Ly Ry m3
(BTN /R U
R ARl 3 i m3
i il
I T F i At F R T (FHEE) RC-40 t=10cm m2
SRTH
FR B8 T Chi) RC-30 t=10cm m2
BLIN 3
I koi 2 LR B T (I RC~0  t=14cm m2 3,47 3.47 3,47 6.91
LKigkaE L () ANJJ LY m2
AT
R AR L (i) AJ1 =3 em HEERL(13) m2 3,62 3,62 3,62 7.24
W 1B B TR
@ AJ1 =5 em {FEFER(13) m2
IR R
no (4Rid) A1 =3 em PLERIUI) m2
fibde
ABIE 1 | REEWGE m2 7.11 13.34 12,94 20, 75
BT
I I o 1 F RS AE T (UL RC—40 t=10am mn2
BT
o ki AR T (i) RC-10 t=I4cm m2
u AJ1 BEMREEE =Tem m2
FEICHT I8 U6 ‘TR 0> L Am
JeIF KRNI () AN =3 em HEHIEE(20) m2
FH BT WA b1, m
" AN =5 em AVEERL) m2 7.41 13.31 12,91 20. 75
AT YR i
no OBl AN =3 em FEERI(D) m2
X i i L (IETHX LoomASH
G AR | (Fal) Kt ¥ 7T F- Y 15cm m
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o T2

Rl 1 =K B #HE
eI FEOMEL50 (IEHISMZ @ 0.165 m)
M. 1922-1~M. 1922-2 n/4 X 0.165 "2 X  5.950 m3 0.13
M. 1922-2~M. 1922-3 x/4 X 0.165 "2 X 31.500 m3 0. 67
M. 1922-3~M. 1921-1 r/4 X 0.165 "2 X 12.250 m3 0. 26

M. 1916-1~M. 1916-2 w/4 X 0.165 "2 X  5.050 m3 0.11




7-2_HEHE_HliD)

= kT
'/ Al = B B
M. 1922-2 15 ANFL
= _FiE 0. 950 ayy)-} . 950 /4 X 177 0.125 m3
= L 0.177 B e . 950 X 177 0.528 m?2
M. 1921-1 15 NFL
= g 1.100 EVZLE . 100 /4 X 177 0.168 m3
=l = 0.177 I .100 X .177 0.612 m?2
M. 1916-1 15 ANFL
& g 1.100 EVVAR . 100 n./4 X . 167 0.159 m3
== 0.167 Hl . 100 x X . 167 0.577 m2




UL (BER SR T R)

il axX - DhF BT | & &
BRHRNo. 1922
M. 1922-1
BREFHIREAL REMRR IR L = 3500 m
2.000 +  2.000 = 4000 | m 4.00
2. 000 + 2,000 ) x 2 -+ 0.250 = 32 | &, 32
wWOEE 3500 m X 2 B X 0.0148 t/m = 0.104 t 0.10
EBRIRT t =0.012 2B 2. 000 +  2.000 = 4.000 | m 4.00
BREHERIET (TR L m
m X HoX 0.0148 t/m = t
(e L = 2449 m
2.449 m X 2 ¥ ox 0.0148 t/m = 0.072 | t 0. 07
(51t L = 3500 m
3.500 m X ( 2 - 2 ) &
X 0.0148 t/m = t
wUER (A = t
(£EH) 3. 500 X 2 ¥ X 0.0148 t/m = 0.104 | t 0.10
2797 (FiFceD 2 X w/4 =+ 0.250 X 0.0148 . t
=) 0.265 2 X w/4 =+ 0.250 X 0.0148 = 0.003| t
0.072 = 0072 | t
B 0.075 | t 0.075
R 0.104 t =— ( + 0.075 ) = 0.02 | t 0.03
Bl T (FFEf) #H x S X 0.250 m/#C = m
(i 2 Mox 1 #FF X 0.250 m/# = 0.500 | m
5% 0.500 | m 0. 50
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HE BERE
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MY T (B EMRR D7)

&l #X - E Hir| # B
BRHNo. 1922
M. 1922-2
[iaki-d Al (&%) 2. 036 X 2. 036 = 4.145 | m2
T A2 (GRHEN) 2. 000 X 2. 000 = 4.000 | m2
SHIERREE T
SHIERR YT T t = 5em 2. 036 + 2.0 ) X 2 = 8144 | m 8. 14
EEREFEA A = 4145 | m2| 4.15
R ALy 4. 145 X 0.050 = 0.207 | m3 0.21
FBET (N 9 78) 1. ST 4.000 X ( 1.500 — 0.050 ) =  5.800 | m3 5.80
1.5mEl |k 4.000 X ( 3.247 — 1.500 ) = 6.988 | m3 6. 99
5 12.788 | m3 | 12.79
HBWHRL
(®h) 4. 000 X 0.743 = 2972 | m3
FERR
EaE - BT 0.950 "2 X =w/4 X 0.307 = -0.218 | m3
BR K - [ERE 0.900 "2 X m/4 X 0.436 = -0.277 | m3
% (1922) 0.1656 "2 X wm/4 X 0.550 = -0.012 | m3
% (1922) 0.166 2 X =w/4 X 0.550 = -0.012 | m3
3 2.453 | m3 2.45
(AL - B 4. 000 X 1.685 = 6.740 | m3
R
e 0.900 2 X =w/4 X 1.685 = -1.072 | m3
FleE 0.900 "2 4+ 0.820 "2 )X1/2Xm/4 X = m3
HEE)) - &R 0.820 "2 X nm/4 X = m3
% 5.668 | m3 5.67
(BEH - ) 4. 000 X 0.500 = 2.000 | m3
R
BERE 2 X wm/4 X = m3
FIEE 0.900 "2 4+ 0.820 "2 )X1/2Xm/4 X 0.450 = -0.262 | m3
T - £E 0.820 "2 X =w/4 X 0.050 = -0.026 | m3
s 1.712 | m3 1.71
Hmsy 12.788 — 5.668 / 0.900 = 6.490 | m3 6. 49




MU T (BRI E)

& Al #72K - FE B &
BRi5No. 1922
M. 1922-2
BEEMRAHREATL REFRRDR L = 3500 m
2. 000 +  2.000 = 4000 | m 4.00
2. 000 + 2,000 ) X 2 =+ 0.250 = 32 | & 32
HUIER 3.500 m X 32 # X 0.0148 t/m = 1.658 t 1.66
ERXHRT t =0.012 2B% 2. 000 +  2.000 = 4.000 | m 4.00
REMEWEI LT (Fefn) L = 2415 m
2.415 m X 2 X 0.0148 t/m = 0.071 | t 0. 07
(@it ) L = 2.406 m
2.405 m X 2 o 0.0148 t/m = 0.071 | t 0.07
(GIE7) L = 3.500 m
3.500 m X ( 32 — 4 ) K
X 0.0148 t/m = 1450 | t 1.45
GOER aEE) 1. 450 = 1.450 | t 1.45
(£ H) 1.658 —  1.450 = 0208 t 0.21
A797° (T 0.265 "2 X =wm/4 <+ 0.260 X 0.0148 = 0.003 t
(=3 0.265 "2 X =/4 + 0.250 X 0.0148 = 0003 | t
0. 071 +  0.071 = 0142 | t
5 0.148 | t 0.15
LA 1.658 t =— ( 1.450 + 0.148 ) = 0.060 | t 0.06
g T (FHef) 2 ¥ X 1 #FF X 0.250 m/#K = 0.500 | m
[ =) 2 B X 1 »AT X 0.250 m/# = 0.500 | m
B 1.000 | m 1. 00
STHTERE (18-5-40) EV RN 2. 000 X 2.000 X 0.150 = 0.600 | m3 | 0.60




T L (B 2RI R)

& 7l #X - s HAL| & &
B AENo. 1922
M. 1922-2
SEE IR
(CEEEFER . TE)
BT t = l4cm 4. 000 0.820 "2 X m/4 3.472 | m2 3. 47
(F4EFA RC-40)
KEL t = 3cm 4.145 0.820 "2 X /4 3.617 | m2 3.62
(FEEHLEAs
13mmTOP)
SiEAENE
(GEREFERI . H1iE)
Sl t = 5em 2.810 2.810 + 5.620 | m 5. 62
ShEmE t = 3cm 4. 145 0.820 "2 X m/4 3.617
t = bem 2.636 2. 810 2. 036 X 2.036 3. 262
3. 617 3. 262 6.879 | m2 6.88
AREMR LR 3.617 0. 030 3.262 X 0.050 0.272 | m3 0.27
TRERE 2. 636 2.810 /4 7.407 | m?2 7.41
wKEL t = 5em 2.636 2. 810 /4 7.407 | m2 7.41
(FAEEBREAs
13mmTOP)
XE#HRE L ER LTI m

M- EARIE15cm




mFEITTT M 1922-2 S=1.,100

i
HEES 24
= T
2636
2036
300 1018 1018 300
- 5
| | -
= => sl 7| e
< | J}\ | = ]
WP 150 | /\ | VP9150 =l g
R-z.sso,t hg =2 670 =

102

18 2000 18

2036

HHl HERE
xBI B4EBHEAS 13TO0P)

BT (HEBA RC—40)

0820 | mipERET

8 -0.06g 3
_— { (=]
o t Si= 2
5 I X g~
|
o B i Al _ @
5 5 B (13w H k) I EETER(RHEL) 2
S v -2 680 | 2 =2.670 =
Nl A 7.2
e 3 = = 2
S Cm——" , B 3 =t =

1 AL -4 -BE
*2 0B ANALIEEESE
*3 EPINE 165-(9.5x2)



SHT T (BEEH KRR D)

& Al B - N E B &
B iENo. 1922
M. 1922-3
REMRREATL REMRAR IR L = 3.500 m
2. 000 +  2.000 = 4000 | m 4.00
2. 000 + 2,000 ) x 2 <+ 0.250 = 32 | #% 32
WOEE 3.500 m X 4 X 0.0148 t/m = 0.207 | t 0.21
SEXRT t =0.012 2B% 2. 000 +  2.000 = 4000 | m 4.00
BEEHRKRZI T (e L = 2374 m
2.374 m X 2 X 0.0148 t/m = 0.070 | t 0.07
(=t L = 2072 m
2.072 m X 2 o X 0.0148 t/m = 0. 061 t 0. 06
(Bl L = 3.50 m
3.500 m X ( 4 - 4 ) &
X 0.0148 t/m = t
HOIERE #EHR) = t
(£18/8) 3. 500 X 4 ] X 0.0148 t/m = 0.207| t 0.21
797 (T 0.265 "2 X w/4 <+ 0.250 X 0.0148 = 0.003 t
=) 0.265 "2 X x/4 + 0.250 X 0.0148 = 0.003 | t
0.07 +  0.061 = 0131 ] t
s 0137 | t | 0.137
L 0.207 t — + 0.137 ) = 0.070 | t 0. 07
Bl T CFHiedn) 2 wox 1 #AF X 0.250 m/f& = 0.500 | m
(Al 2 wox 1 ¥ X 0.250 m/# = 0.500 | m
2 1000 | m 1. 00




mEIESZDT M 1922-3 s=1,100

G’ 35
—d
B

a |
>
>

- )

VP $ 150 /k/ RP ¢ 150
2-2.569 /1 N.g—2.519
1000 1018
2000
18 18
2036
Bl BR
$820

+0. 01 &
2 =2, 267
/ 2
-2, 569 -2.519 S
MRS —:?.0/ //-‘L——
1 1
¢ 1050
$ 1100

* 1B AABRERSE



SNHT (BEHRRTE)

& 5l AKX - F HAL| % &
B #No. 1921
M. 1921-1
ki Al (838 2.036 X  2.036 = 4.145 | m2
k-4 A2 (EHI) 2. 000 X 2.000 = 4,000 | m2
SEREUET
SRR YT T t = 5cm 2. 036 + 2,036 ) X 2 = 8144 | m 8. 14
E AR A 5 = 4145 | m2| 4.15
R Easy 4.145 X 0.050 = 0.207 | m3| o0.21
WA (9 87) 1. SmEfH 4,000 X ( 1.500 — 0.050 ) = 5800 | m3 5. 80
1.5mLl b 4.000 X ( 2,971 — 1.500 ) = 5.884 | m3 5. 88
5+ 11.684 | m3 | 11.68
HBHRL
(7h) 4. 000 X 1.405 = b5.620 | m3
FERR
=22 1,100 "2 X =w/4 x 0.307 = -0.292 | m3
BR{k - [HBE 1.050 "2 X w/4 X 1.098 = -0.951 | m3
% (1921) 0.165 "2 X =m/4 X 0.475 = -0.010 | m3
% (1921) 0.156 "2 X =w/4 X 0.475 = -0.009 | m3
g 4.358 | m3 4,36
(RAE+ - ) 4.000 X 0.746 = 2.984 | m3
FERR
BB 1.050 "2 X m/4 X 0.702 = -0.608 | m3
£l 0.820 — 1.050 )= 0.450 X 0.044 +
#1EE LG = 1.028
1.050 "2 + 1.028 "2 )X1/2Xx/4 X 0.044 = -0.037 | m3
B 2.339 | m3 2.34
(B 41 - R0 4. 000 X 0.500 = 2,000 | m3
R
e 1.050 "2 X =m/4 X = m3
f1eE 1.028 "2 4+ 0.820 "2 )X1/2X=m/4 X 0.406 = -0.276 | m3
FE) - £ 8 0.820 "2 X m/4 X 0.094 = -0.050 | m3
5 1.674 | m3 1. 67
Easy 11.684 — 2.339 / 0.900 = 9.08 | m3 | 9.09




SHTT (EEEHRAR A

& 5l =N VR N BT | & &
B#No. 1921
M. 1921-1
REHFRREAL BEFRRIR L = 3.500 m
2. 000 +  2.000 = ,000 | m 4.00
2. 000 + 2,000 ) X 2 =+ 0.250 = 32 | ¥ 32
EUEE 3.500 m X 32 f X 0.0148 t/m = 658 | t 1.66
ERBXRT t=0.012 2% 2. 000 +  2.000 = L000 | m 4.00
BEFARIRIIKT (Fies) L = 2.139 m
2.139 m X 2 ¥ox 0.0148 t/m = .063 | t 0. 06
(i) L = m
m X ¥ X 0.0148 t/m = t
(Bl4R) L = 3.500 m
3.500 m X ( 32 = 2 ) K
X 0.0148 t/m = 554 |t 1.55
wOERE [€=00:5)) 1. 554 = 554 |t 1.55
(£ 1. 658 —  1.554 = J104 |t 0.10
797 (FFeaD 0.265 "2 X w/4 =+ 0.250 X 0.0148 e .003 |t
(s 2 X w/4 + 0.250 X 0.0148 . t
0. 063 + = .063 |t
B L0686 | t 0.07
BHL 1.658 t — ( 1.554 + 0.066 ) = .038 |t 0. 04
Bl (oD 2 ¥ X 1 »AF X 0.250 m/¥ = .500 | m
(Eefan o X BT X 0.250 m/fg = m
5 .500 | m 0.50
SIHUERE (18-8-28)@IF | av7)-h 2.000 X 2.000 X 0. 150 = .600 | m3 0. 60




45 T EEH AR O R)

& Bl B - b E HAL| &
BR#ENo. 1921
M. 1921-1
SEREIR
GEEER : THE)
PEAET t = l4cm 4. 000 0.820 2 X =/4 3.472 | m2 3.47
(F4AEMHR RC-40 )
wET t = 3cm 4,145 0.820 "2 X =w/4 3.617 | m2 3. 62
(BAEFRLEAS
13mmTOP)
SHEREIR
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